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NAHEFEE NS RETR

wx ARz s —nss2 IRIEF Rz 2 —nriz REEIFRA 5 —nrsz
1R
18: 40 ¥ K= XEER
4 (B) 19: 30 ¥ B AHER 19:30 % B=-EHR 19:30 PE=~SEKHREH
AERBHTARICTEET.
718
18: 40 % H=>XHER
5 (K) 19:30 % H=XER 19:30 % fH=ERR 19:30  FR-HRCKRRED
AERENTHRICTEET,
71H
18 : 40 ¥ H=kER
6 (k) 19:30 ¥ KekEHR 19:30 % H=2AR 19:30 SE=SIFCARRZH
AERSHTHRICTEET.
6 A
18 : 40 2 Fres A HER
7 () 19: 30 ¥ = KHEER 19:30 % B=-EHR 19:30 PR-HFxAHEREH
AERBHTHEICTEET,
7R
18 : 40 2 ek HER
8 (&) 19:30 % He-kHER 19:30 % HK=-2HR 19:30  FR-SECARREH
AHREHTHRICTEET,
1R
8 :40 KHER=F¥ B 8 :00 BHR=% B 7 :30 fIRR=F &
9 () 12 : 05 F K=>XHR 12:05 F HE-EHR 12:05 2 B-RRR
16 : 20 % K- AHER 16:20 % fres ZFIER 16 : 20 Z B=fER
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